©Baijiadagu.2018.08

(

{

BAIJIA DAGU
[S1EF ¥

Techie Robot
Assembly Instruction

Zhongshan Baijia Dagu Electronic Technology Co.,Ltd.
Tel: 0760-22355466



Note
Please read instruction carefully before use and Servo
check if the parts are missing.

The parts of Techie robot are listed as follow:

Battery holder

Switch

Circuit board

Name
Cable tie
Ultrasonic
Servo disk X4 Screwdriver




Screw type:

M3x6 M2.3x6 M2x6
self-tapping self-tapping
screw screw with
M2x8  ring
M3x12 screw self-tapping
with ring screw with
ring Double pass

copper column

M3x20

8pcs 2pcs  4pcs 4pcs 8pcs 10pcs  2pcs 10pcs

Installation note

@DThe structure of the wooden board is fragile, and
the structural position can be fixed without force.
Please pay attention to the intensity during the
installation process.

@After completing the assembly of each part, first
connect the electronic components, open the switch
to turn the servo angle to 90 degrees and then disconnect
the wiring to star the overall assembly.

(@battery selection

1. User need to assemble 4*AAA 3.2V lithium iron phosphate
battery.

2. Directly convert the power supply to a 7.4V Li-polymer
battery or a 7.4V lithium battery.

3

?’ fTTmo

Assembly of parts

Step 1: Fix circuit board.



Step 2: Use a cable tie to fix the battery holder
to the splint.

Step 4: Fix the two servos with M2.3X6 self-tapping
screws and switch with M2 X6 self-tapping
screws with ring.

Step 3: Insert the ultrasonic into the eye position.




Step 6: Fix servo into legs with M3X20 screws.

Step 5: Fix servo disk with M2 X6 self-tapping
screws with ring.




Step 7: The right foot plate: fix servo with M2 X6
self-tapping screws with ring and the foot
plate with M2X 8 self-tapping screws with | Step 8: The left foot plate: fix servo with M2X 6
ring. self-tapping screws with ring and the
foot plate with M2 X 8 self-tapping screws
with ring.

9 10



Circuit wiring diagram \ §

G1 G2 | |

E4 E1 D1 C1 B1 Al
E2 D2 C2 B2 A2
E3 D3 C3 B3 A3

G2

Right foot A E3 E4 E1 E2
Left foot B

Right knee C

Left knee D

Brown 3 Yellow 1
Red 2

11 12



Partial wiring example diagram

Firstly, Right foot A servo

Secondly, left foot B servo
Thirdly, right knee C servo
Fourthly, left knee D servo

Note: Wiring first, then start the whole assembly
See page 3 for detail.

13 14




Overall assembly

Step 1: Fix the joint position with the thicker
screws in the servo bag.

15

Step 2: Slightly loosen the leg screws before
the legs snap into the joint position.

16



Step 3: After the servo disk is snapped into the

servo, fix the servo disk with the large
screw in the servo disk. Step 4: Fix the face and lower plate with M3 X 12

screws with ring and M3 nut.

17 18



Step 6: Cover the back cover.

Step 8: Fit the back anti-drop fixed block.

19 20



Step 9: Finished.

21

After connecting the motherboard to the computer, install the serial
port driver CP2102USB2UART driverAddress: https://download.cs

dn.net/download/wfysu/7957697

Step 1: Choose the arduino model.

1

Auto Format

Archive Sketch
testDance

#include < Serial Monitor
#include 4
#include EEFR Board
#include MoveFur Processor

Port
int count=1

Programmer
void setup() { Burn Bootloader

put yowr sefup code Rers, Fo Tum ones

Serial. begin (8200);
pirdlods (AD, INPUT)
piriods (AL, OUTFUT):

getOldPosi tien (80, 90, 90, 90)

id leopO {
delay @)
get01dFosi tion (80, 90,90, 90):

Float S=pulseln (AD, HIGH)
5=5/58.00
1£15410) countt:

£ (count==9) count=1
witchicomnt) {
case 10 drank(1000);br eak;
backyard 2, 1000); bresk;
.2, 1000) ; breale;
noonNalkleft (2, 1000): bresk;
se 5 swing(2, 1000) &
¢ 6: goingllp (700) :bre
T nobravity (800)
« BikickLe£t (800 br eak;
o 9 primera_parte () :broak;

Fix Encoding & Reload

Ctrl+T

Ctrl+Shift+M

Arduino AVR B

Arduino Yin

Arduino Ydn Mini
Arduino Industrial 101
Linino One

Arduino Uno WiFi
Arduino Uno

Arduino Duemilanove or Diecimila
Arduino Nano

Arduine Mega or Mega 2560
Arduino Mega ADK
Arduino Leonardo ETH
Arduino Leonardo
Arduino Micro

Arduino Esplora
Arduino Mini

Arduino Ethernet
Arduine Fio

Arduino BT

LilyPad Arduino USB
LilyPad Arduine
Arduino Pro or Pro Mini
Arduine NG or older
Arduino Robot Control
Arduino Robot Motor




Step 2: Choose port.

Auto Format

Archive Sketch

tesiDance Fix Encoding & Reload

#include Servo.l Serial Monitor
#include Oseilld
#include <EEFRON. Board
#include MoviF  Processor

Port
1int eount=1

Programmer

void setup() { Burn Bootloader
put yow sefup code Fere, ¥ i
Serial. begin(@200);
pirMode (40, INFUT);

OUTFUT):
tion (90, 80, 90, 90)

id leep () {

ay 20

getOldPosi tion (90, 90, 90, 90):
put your main
telAl, L
roseconds 2);
Lhe (A1, HIGH) ;
seconds (20);
digitallrite (AL, LOW)

1t S=puleeln (AD, HIGH)
5=5/58.00:
1£(5€10) countH

W

i Floount==9) count=1
witeh(count) {

& 1 drunk (1000) : bresk;
2:backyard (2, 1000): break:
3irun (2, 1000): brask;

wse 4 moonWallLeft (2, 1000); b eak;
= 5! swing 2, 1000); ;
ase 6 goinglip (700) ;breals
wse T:noGravi ty (800 ; br eal
case B:kickLeft (800):Lr

& 9iprimers parte():brs

Cirl+T

Ctrl+Shift+M b
»
»
(] Serial ports
coM1
v com3

n

23

Step 3: Click the right arrow to burn the written program into
the board.

testDance
#include h>
#include Oseillator.h?
#include <EEFRON.h>

#include “MoveFunction h

int eount=1

woid setup() {

put your setup code here, to rus
Serial. begin(@200);

id leep () {

ay 20

getOldPosi tion (90, 90, 90, 90):
put your main
alWrite (Al L
roseconds 2);
lirs be (A1, HIGH) ;
roseconds (20} ;
digitallrite (AL, LOW)

1t S=puleeln (AD, HIGH)
5=5/58.00:

1£(5<10) countHt;

i £{count==9) count=1;

W

i

witeh(eomnt) {
drunle (1000); br eck;
backyard (2, 1000); br esl
e 3irun(2, 1000); break
caze 4 moonWalldleft 2,
swing (2, 1000) b
goingllp (700):
\= 7 moGravity (B00) ;%
ase B leickleft (800) ; br

000) by s ak;

ase 9 primera_parte():break:

H: Wil

24



A program case

testDance §

#include Servo b
#include Dscillator. h>
#include <EEPRON. B>

#include MoveFunction b

int count=l;

void setup( {

put yow setup code her
©200) ;
pirflode (80, INEUT): //
pinflode (AL, OUTPUT)
getOLdPesition (80, 90, 90, 90 ;

Serial.b

id Loop 0 {

dslay @):
get0LdPosition (90, 90, 90, 90):
put your main code here, t

alWrite (Al, LOW);

1£(5<10) count+:
if(count==9) count=1;
switch(count){
caze 1:drunk(1000);bresk;
L backyard(2, 1000);
3:run (2, 1000) ; bresk;

caze 6 gaingllp (700) ;bre
T noGravity (800 b
8 ki clLeft (900)

case 9:primera parte ();kr

run repeatedly

4:moonWalldeft (2, 1000) ; break:
case 5:ewing(2, 1000) ; break;

25

Mixly graphical programing case

4 warlables

1 runcrizns

© necnie

Techie robot video:
Link: https://www.dropbox.com/sh/nhd41t5wzcsn71z/AADSd
sDIOho-KUSM37QqgznPxa?dI=0

26



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

